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Answers to Chapter 2 Exercises

4) P— (~P—>R) 351(2)
(@) Q A [for —I]
(6) ~Q—R 5 FA

@) Q—->(-Q—->R) 6 >I(5)

3) (~P>R)v(~Q—R) 1,4,7 Com Dil
VALID

(D) P& (R—-PV~Q) A

2 ~R—->PvQ) A

3 Q A [for RAA]
€ PvQ 3vI

%) R—>PvQ 4TC

(6) ~Q 2,5RAA (3)
VALID

(D) ~R & ~P > QVR) A

(2) Q&R A [for RAA]
3 R & ~P) & ~(Q Vv R) 1 Neg—

€] R & ~P 3 &E

)] R 4 &E

(6) Q 2,5BP

@ QVvR 6 vI

€)) ~(QVvR) 3 &E

&) ~(Q<R) 7,8 RAA (2)
VALID

1) P> (Q&R—YS) A

@ P A

3 ~S A

4 Q&R A [for RAA]
() Q&R —>S 1,2 -E

(6) S 45 >E

@ ~(Q&R) 3,6 RAA (4)
INVALID

P:F Q:F R:T



